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Identify and model points, lines, and planes
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Identify intersecting lines and planes
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41. D(—15, 4), E(2, —10)
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Find the midpoint of a segment
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Find and use the sum of the measures of the exterior angles of a polygon
13 30to33 | 791

daldsiuwlg &La.n ‘3 &,.-,»j:’.!\ Ligy! OL«»\;@ & e e

(lalas gy S B X ed dongl

32.

33.

Q

(x+18)°

13




S T ilase [ sl Jue https://t.me/mathbaok 8 %Q M httosy//tme/alllaaams?
050-2509447 Sy ¢ i ks 3 ol ol o ks
(=] :
Recognize and apply the properties of the sides and angles of parallelograms I
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Recognize and apply the properties of the diagonals of parallelograms
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Recognize the conditions that ensure a quadrilateral is a parallelogram
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Recognize and apply properties of rectangles
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Recognize and apply properties of rhombi and squares
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Recognize and apply the properties of trapezoids, including the medians of trapezoids
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Recognize and apply the properties of kites
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Find the number of elements in sets
22 79to 86 | 861

4L goznall ‘3 robadl sae slewl

cdcgomo S s ) sasdl o > 79-86 ool ) dcdls

79. A= {63, 72, 51, 44}
80. B=1{10, 11, 12, . . ., 20}
{esen®¥) 0 ase x|x} = C .81
{aeu) o 423 x|xt =D 82
" {3} = F 83
{a 0.0g.&}=F 84
{CJle sae X3 N J) Lo x[x} = G .85
86. H=0 ”

22




050-2509447 )\ ) s 5L il ; el o 3 3L

A Aalul  Ahaa [ (ujtal) Jos https://t.me/mathbook 8 % https://t.me/alllaaam82
e

33 Define a complementary set
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Find the number of subsets to a set
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36.
37.
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Find the number of subsets to a set
41to50 | 873
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